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PART 2. Multiple Choice (60 points— 3 points each)- Please choose the best answer

1. The reservation wage is
(A) The wage that an employer must pay workers to reduce turnover to a reasonable level
(B} The wage that ensures a laid- off individuat will wait for re-hire, rather than find another job

The wage that would make an individual indifference between working and not working
(D) The wage offer that will end a labor strike (el ot sl

2. Which of the following is consistent with an increase in the inflation rate?
A} A decrease in the price of oil.
(B) A decrease in the unemployment rate,
(C) A decrease in unemployment benefits.
(D) All of the above VS
3. An increase in the nominal money growth rate is expected to n 3 ¥
(A} increase the unemployment rate in the short run but not in the medium run.
~(B] decrease the unemployment rate in the short run but not in the medium run.
ncrease the inflation rate in the short run but not in the medium run.
~ (D) decrease the unemployment rate both in the short run and in the medium run.

4. When the actual unemployment rate exceeds the natural rate of unemployment,

(@ the inflation rate decreases TP = ot (U-%n)
{B} the inflation rate increases
{C}the natural level of output exceeds the actual output level -

(D} expected price level exceed the actual price level

5. Which of the foliowing events will cause an increase in the price level?
(A) an increase in the unemployment rate oe P = o (\+M Y F (E ' 'f\_-)
{bj a:eduction in the markup = * -
n increase in the unemployment benefits
{D} a reduction in P®

6. The neutrality of money is consistent with which of the following statemenis?
(A} Changes in the money supply will not affect the price level in the medium run.«
(B) Changes in the money supply will not affect the price level in the short run.s
Changes in the money supply will not affect employment in the medium.
(D) Changes in the money supply will not affect employment in the short run.

7. When the economy is operating at a point where output is greater than the natural level of
output, which of the following occurs? Y>Y. o>¢°¢
(A} the price level will be higher next period than it is this period. fﬁ
=t (B) the price level is greater than the expected price level, « Un > U,
' @The unemployment rate is less than the natural unemployment rate, o
all of the above

8. Suppose the expected inflation rate is 8 percent and the unemployment rate is 3 percent. If the
inflation rate rises to 10 percent and the expected inflation rate does not change.
@fhe short-run Phillips curve will shift upward.

{B) the natural unemployment rate will rise. 1"‘0"”
% @fhe short-run Phillips curve will shift downward. &’

there will be a movement along the short-run Phillips curve.
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9. In the wage-setting relation, the nominal wage tends to decrease when o

{A) the price level increases.

e
(B} the unemployment rate decreases. w-® F (L_* f?{_) AD
{C) the minimum wage increases. T y (ﬁv. ,C(\')
@ unemployment benefits decrease. o \)’ -
\
10. The aggregate demand (AD) curve is downward sloping because: =

(A} A reduction in the money supply will cause an increase in the interest rate, @ reducrion in
investiment, and a reduction in output 2«

A reduction in the gggregate price level will cause a reduction in the interest rate and an
increase in output

& [C)Areductionin price level will cause an increase in the real wage, a reduction in employment,

and a reduction in output

(D} As price level increase , goods and services become relatively more expensive and individual
is represent by reducing the quantity demanded of goods and services =

11. The natural level of output is the level of output that occurs when
(A) the unemployment rate is zero.
(B} there are no discouraged workers in the economy.
the economy is operating at the unemployment rate consistent with both the wage-setting
and price-setting equations.
(D} the goods market and financ’al markets are in equilibrium. «

12. Which of the following will shift the aggregate supply curve upward?
(A) An !ncrecse !n the markup over labor cost R = Pe (e ) F (\_1_ r‘i)
{B) Anincrecase in the expected price level - +
C)An increase in the unemployment benefit
Al of the above

13. Suppose the Phillips curve is represented by the following equation: z,- z,, = 0.03 - 2u;. Given this
information, we know that the natural rate of unemployment in this economy is

[A) 25%.

(B) 5%. S
2.5%. P'Irsé{

(D) 10%. A ot Wmeme AL

= i

14, For this equation, assume that the economy is initially operating at the natural level of output and
that the expected price in period t is based on the following : pe = pt1. Based on our
understanding of the AS-AD model, we know with certainty that a reduction in faxes will cause
which of the following? Y= YL .G )
{A) Anincrease in output and no change in the price level in the short = -
(B) Anincrease in employment and no change in the nominal wage in the short runa
(C) A reduction in the price level, no change in output and no chonﬂe in the interest rate in the <

edium run ) M
@” reduction in invesiment in the mediumrun | N ‘T \i : s &

————e e 1

15, Which of the following represents the shori run effect of a reduction in money supply? : fﬂ
{A) Anincrease in the price level AS o
« decrease in the interest rate \ _)g,}f
[C)A decrease in the investment ?\\( ——ta—
X (D) Al of the above ap




16. An increase in the price of oil will cause which of the following in the medium run?
an increase in the unemployment rate
{B) no change in the level of cutpuy
(C) areduction in the interest rate
(D) dll of the above

17.In the aggregate demand relation, a reduction in the price level causes output to increase

because of its effect on: v A
12) The interest rate VAN 51605)

i
{B) The firm's markup over cost \ \\

{C) Government spending

(D) The expected price level
Arf— s

18. A reduction in minimum wage will fend to cause which of the following?

(A) Shift WS relation to the right ‘n
B} Shift AS curve upward 1 )
n increase in the natural level of output G @ W %
1 HJCY

{D) Anincrease in the nominal wage U“_h Y,,‘ WJ . P ‘-’-’_;_\
19. Which of the following facts about wage setting is frue? & w . Flu,z)
A (A) Most workers in Palestine have their wage set by collective bargaining. e L
(B} The mini mum wage in Palestine is 14865
(% (C)Wages for entry level jobs at KFC are set by negotiation with the compcny%

All of the above

20. The aggregate demand curve will shift to the right when which of the following occurs?
(A) arise in the price level % o )
(8} araduction in consumer confidence AN (A 1
(C) a reduction in the money supply J @ Y N
a reduction in taxes A
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PART 2. short Answer Questions (40 poiints) - Please show your w (9
v/
Question # 1 (12 points) \

For this question, use the "Modified” Phillips relation we saw in class: m, = wf + (u + z)—oc u,.

a. Derive the natural rate of unemployment (u,) using the equation above.
b. “The natural rate of unemployment be different across countries and even change over time” (s

this statement frue, false, or uncertain?
c. letnf = m,_,. let the natural rate of unemployment be 6%, r,_,=2%, the current unemployment
rate be 7.4%, and use a=1.Given this information, what should the inflation rate be today?
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Ousstion # 2 (12 point: (j\/\(\/ -'

-
geﬁn he natural rate of unemployment. How is the natural rate of unemployment detesmined? Be

fYOUr answer., 3
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& gstion # 3 (16 points) N

Subpose the economy begins with output equal fo ithnatural level. Then there is a decrease in

consumer confidence (a1 ) as households attempt o incredse their saving for a given level of

disposable income.

A. Based on your understanding of the AS-AD model and the IS-LM model, graphically illustrate and
explain what happens to outpt 1103 I} gres rate, and the price level in_the short run? What
happens to investment, an Ain the short rung Is it possible that the decline in
consumer confidence will actually lead 1o & cII in private saving in the short rung

B. Based on your understanding of the AS-AD model and the IS-LM model, graphically illustrate and
explain what happens to output, the interest rate, and the price levelin the medlum rune What

happens to investment in the madium ryn
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